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Question Number : 1 Question Id : 64041116481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let [x] represent the greatest integer less than or equal to x. {x} = x — [x].

X

J2=1414and \[3=1.732.If f(x) = {H+L—1

. [ 15 a real valued function.

-

then f(\E) + f(-ﬁ):

[x] @38 X & DosD Dend KORS KBR 5 X} = x - [x], ‘E: 1.414

k= (%] \'_.-

I__I

) g - i o
A elow \/5— 1.732 o088,

w5 1(/3) ()

Options :
0.682

0.318
2. %

0.146

1.146

Question Number : 2 Question Id : 64041116482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the range of the function fi(x) =-3x - 3 is {3, -6, -9, -18}, then which one
of the following 1s not in the domain of £ ?

Saba%o fi(x) =-3x — 3 Gt agd {3, -6, -9, 18} wond, ol aB&® f ey
55E30es® 26

Options :

Question Number : 3 Question Id : 64041116483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

=+ o + ... t0 24 terms =

Options:
23
147

B
35



Question Number : 4 Question Id : 64041116484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
It B is the inverse of a third order matrix A and det B =k. then (adj (adj A))™=
3% S5 Hr@E A Gng) Q6t5sm B &bk det B =k wond, (adj (adj A))'=

Options :
kB

Question Number : 5 Question Id : 64041116485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



[
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1_
].

IfA= and o.p.y are the roots of the equation represented by

[u— [S—
2

2|

5

‘A‘XI‘=0. then 2 +p2+7% =

331
A=l 3 Ugeom apr e [A-x]=0 3 srooted sihstmo @ng
1 2 2

v =p 7 7 .
OTPETE] B0, (;('-|-ﬁ'_|_ﬂlr' =

Options :

A.'.l
1. % o

Question Number : 6 Question Id : 64041116486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the values of x. y and z which satisfy the equations 2x — 3y +2z+ 15 =0,
3x ty-z+2=0and x - 3y -3z + 8 = 0 simultaneously are ¢, p and y
respectively. then

2x -3y +2z+15=0,3x+y-z+2=0%0cw x-3y-32+8=0 &3

E = 0 L = i et e & A ; A
Hoslereih afsraod” égﬁ'._;‘aﬁ[m X, ¥, Z deoden 380 o, B, ¥ @ond, o3pth

Options :

|« Br7=c

a+p=2y
- p=2



2a+B =7

2B +v=2a

Question Number : 7 Question Id : 64041116487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
: ; 3 )
Ifx=3-2./31. then x*—12x> +54x% -108x - 54=
x=3-2./3i wowd. x*-12x% +54x° ~108x - 54=

Options :
1. = 0

Question Number : 8 Question Id : 64041116488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

z,, Z,, Z, represent the vertices A, B, C of a triangle ABC respectively in the

Argand plane. If |7, —z,|=+/25- 1243

the area (in sq. units) of that traingle 1s
Z, Ly L0 eeagoﬁ doot® a8 (@ahso ABC O %nga A, B, C e S6bm

128

rFom. [z -75|=425-1243

Bz FEgo (i oot

= and ACB=30°, then

:_533601530 ACB =30° e, @




Options :

i
% 2

3
2.

5
3. %

>

2
4. %

Question Number : 9 Question Id : 64041116489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The product of the four values of the complex number (1 +1)** is

%o Sogg (1 + 1) G arenth Dense @Y oo

Options :

Question Number : 10 Question Id : 64041116490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the difference of the roots of the equation x* — 7x + 10 = 0 is same as the
difference of the roots of the equation x* — 17x + k =0, then a divisor of k is

Xt —Tx + 10 =0 $8idmo o) Barere o, X2 —17x + k =0 %8m0 Gk
e Pl ShrNDeE, wip k and) e grado

Options :
14

1.¢

15

Question Number : 11 Question Id : 64041116491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 - -
The product of all the real roots of the equation |}{|' —b|}{|+6= 0 is

A

O

oF

2 =k - o
‘};" —S‘X‘-g-ﬁ:{} Han8Bes0 @nE) RS Hrerolod o

Options :

. %25

Question Number : 12 Question Id : 64041116492 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If o, B and vy are the roots of the equation 5x° — 4x* + 3x — 2 = 0, then
Bpiipi=
o, P bain ¥ en 5%° - 4x? + 3x - 2 = 0 $doEbmo Gng) Hirerds, vt
o +B3 +}'3=

Options :

17
1.% 25

—
-
L

%)
P

-2
h

Question Number : 13 Question Id : 64041116493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After the roots of the equation 6x° + 7x? — 4x — 2 = 0 are diminished by h. if the
transformed equation does not contain x term, then the product ofall the possible
values of h 1s

B+ T - Ax 3= Gng) Hrere Heondei h ShodS SKers, Brarostsn

soabid HiEsmod X & DA Hio endio wond, ErcﬁdéciJ h Gn¥) o desde
g0

Options :

1% 13



Question Number : 14 Question Id : 64041116494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of integers greater than 6000 that can be formed by using the
digits 0. 5. 6. 7. 8 and 9 without repetition 15

0.5, 6, 7, 8 50c 9 wodeidh HifoHdo sthor &harhod) Wf)5sKe 6000

foT5) ajﬁimc'& JProsee {08y

Options :
240

1. %

8§40
2. %

v 1440

1680
4, %

Question Number : 15 Question Id : 64041116495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of distinct quadratic equations ax’ + bx + ¢ = 0 with unequal real
roots that can be formed by choosing the coefficients a. b. ¢ (azb=c¢) from
the set {0, 1.2, 4} 15

3508 {0, 1.2.4} 08 fowmeren a,b. ¢ o (2 2b#c) JobEko oo ABBIKON

0080 s Soeeroin BDAS D& *_..sj SapEsemen ax’ +bx + ¢ =0 o Hogx



Options :

Question Number : 16 Question Id : 64041116496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ways of dividing 15 persons 1nto 3 groups containing 3, 5 and
7 persons so that two particular persons are not included mnto the 5 persons
group 1s

5 b Hxen & Haes 2008 ”“D%oé’ﬁsﬂ 5@6 5o 1,_6‘5 Sow@ 15 oo
Sl 3, 5 MHba 7 1B Hen Ko Sirth Sdesteorr D%20SKON Qore Rogy

Options :

117(11!)
31(71)

Question Number : 17 Question Id : 64041116497 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Fog B2
The coefficient of x!° in the expansion of | X+——3 ‘ is
5 2
X+—=5| &8 HHBes® x'0 @ng) Heeto
X ) -

Options :

1674

[
—
L)
| ]

1892

862
4. %

Question Number : 18 Question Id : 64041116498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

10 = 10 i
LetS = JEIJ(J—I).IOC]. , 8, = jzl.l.locj and S, = jzlj L(e R

10 10 i

$,= Z j(j-1)-10c..S,= = j10¢. &b S, = T I 10¢, exsol.
j=1 . =1 =1

Assertion (A) : Sy = 55%2°

D80 (A) 1 Sy =55x2°

Reason (R) 81 = 90x 2% and Sy =10x i

soieo (R) ;8= 90x 2% &bo Sy = 10x28

Options :

1. %



Both (A) and (R) are true and R is the correct explanation of (A)
(A) @obcin (R) Bodr Hefgo, dbain (A) ctog) XBGHE Dddem (R)

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) &bBcso (R) Boir X0, =00 (A) gy ¥OGHE didde (R) smih
2. ®

(A) 1s true, but (R) is false
v (A) Sedgo, =0 (R) ededo
(A) 1s false, but (R) is true

(A) @0, =0 (R) Sefo
4. %

Question Number : 19 Question Id : 64041116499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 2
2x " —3x" +4 px+q mx+n 1l
|| S = =gt 5 5 .then —=
[x‘+l][};'+2) Xkl xX52
o X - .
2X " —3%"+4 pX+q mx+n 1
S 9 iy 3 + 3 @ond, _ =
[};'+l)[x'+2] x4+l XK il q
Options:
ptm-—a
1.+
p+m
a
2. %
a
p+m



prHin+a

Question Number : 20 Question Id : 64041116500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
( A || 5 27 )\ | 29w
|Jrc:05 — 1 4::03 ——1 4::03 ——1‘ |4cc-s ——1 | 4cos
| 20 ) 20 20 20 )|

- \ - - o / Ly -

Options :
1

1. %

0| =

]

Question Number : 21 Question Id : 64041116501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A and B are the values such that (A + B) and (A—B) are not odd multiples of

T
Py and 2tan (A+B) = 3tan (A—B). thensin A cos A=

I
A 5806 B ew, (A+B) 508050 (A-B) en mé 2% Hderen sohow ﬁ':]éé)i};:

a-

&) Denden pBain 2tan (A+B) = 3tan (A - B) ©wond, sin A cos A=
Options :

sin B cos B
1. %

5sin Bcos B



sin 2B

cos 2B
S

Question Number : 22 Question Id : 64041116502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4k
If c0s’80° + c0s’40° — cos20° =Kk, then EN
4k
cos’80° + cos’40° — cog’20° = k @ond, 3

Options :

R 5 5
S| —
3

Question Number : 23 Question Id : 64041116503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The number of solutions of the equation 4 cos 26 cos 36 =sec 0 in the interval
[0, 27] is

[0. 21] @osBos® 4 cos 20 cos 30 = sec B BEBmsN @Y FEH 208y

Options :

12
1.4

Question Number : 24 Question Id : 64041116504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

f

( .
taui 2Tan

L

*Jeran(1])-

Options :
1

NG

r_,,J.

Question Number : 25 Question Id : 64041116505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
i 1 i

Tanh™ ; PY Coth1(3) =

Options :
=gl
Sech™!| =
| 3 )
1. % L e

Question Number : 26 Question Id : 64041116506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

b c
natriangle ABC.1fA=30° and =

[_JE+1)2+2(\/5—1) [\/§+1)J—:(£—1) '

then B =
2.8 (Beheo ABC &, A =30° £6d5n

b c

B 2(V21) - (1) -2(2-)

Options :
60°

< "
oond, @apth B =



hn
12
;Jl

[}

Question Number : 27 Question Id : 64041116507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In AABC if the line joining the circumcentre and the incentre 1s parallel to BC,
then cos B +cos C =
AABC &° 5658 oo 0Bt ©0s8 Bodneds 50D Oy BC & dsrodtorr

08, ©pth cos B+ cos C =

Options :

1
2

= |

2 |

Question Number : 28 Question Id : 64041116508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ina triangle ABC. ifr, :r,=3 :4andr,:r,=2:3.thena:b:c=

a8 (Bgheo ABC S 1, :1,=3 1450w 1,:1,=2:3 @8, a:b:c=

Options :

Zide 4

1. %



2. %

3 % 4:5:6
Ll - ded)

4.

Question Number : 29 Question Id : 64041116509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let (x,y) eRxRand a=xi+2j-k, b=6i-yj+2k be two vectors. If
‘ﬁ XE‘Z +‘E.E‘2= f(x)g(y), then f(x) + g(y) — 46 = 0 represents
(xy) eRxR&bcke a=xi+2j-k, b=6i-yj+2k Dot Sbden eeod.
\axﬁ\%\ﬁ.ﬁfz f(x)e(y) wand, %) + g(y) —46 =0 ¥e0oda

Options :

A pair of lines
2.8 %5t dﬁ}){‘f&)

An ellipse
2.8 &g}éﬁo

A hyperbola
2.8 @@Nowiencho

A circle

=1 éﬁo

4. &

Question Number : 30 Question Id : 64041116510 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Line L, passes through the points i+ and k—i. Line L, passes through the
point j+ 2k and is parallel to the vector i+ j+k. If xi+yj+zk is the point of
intersection of the lines L, and L. then (y - x) =

raéﬁ"é&g 1-|- | Sobctn k-1 Dotk Do HomsBéod. L pafﬁ%a, ]+”L Doty
Koreafdr 1+J+L_ $BEE JErosBomr Gotnod. Xi+ Vj+zk ©30 L, &bdm L,
Do pois Hodhas, (—X) =

Options :

Question Number : 31 Question Id : 64041116511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

a. b and ¢ are the position vectors of three non-collinear points on a plane. If

‘ represents

=

a=[7 § <] and T=axb-cxb-axc, then

=1

ey a8 doo 508SEen 0 3 Dodhde Fd SHEen.

=2
Lo g
e
o
Ex
&

|

o
u:[ﬁ b T|#8cm r=axb-cxb-axc ©@ons, F‘s’mﬁoé&

Options :

Ratio of areas of the triangles formed by o.a.b to 0.b.c

Ferse DS

i
E]

n |

a.b 6% 0.b.c o o3 G (BghHes

-" I
Feul

Q.

m

1. %



Ratio of the numerical values of volume of the parallelopiped formed with

S,H_E_E and 1ts height

0.a.b.c &3 B & $Er08Y8 Heo @ ) ahdsBiren HBdhn de dg)

woar ) ﬁ Sense nju%\_%

Ratio of lengths of the diagonals of the parallelopiped formed with ¢.a_b.c

3 % 0.2, b.c o3 mf{‘(_'s- H8rosE Hedo Cﬁl»é{: E.]éﬁn-s_, e “Jﬁévu

Length of the perpendicular from origin to the plane

L Soredoths) ok o derdd Ko eoaiirto

Question Number : 32 Question Id : 64041116512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfP= (‘1><1) +(a><]) +(a><k) '111dQ—(£11 (a ]] +a. ]‘then

5

P=(axi) (ax|) -I-("lxk) 560 Q= (a-] ] +aj) +(f1 k) wond, P

Options :
1. % P=Q

Question Number : 33 Question Id : 64041116513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

a=i+]j-2k b=i+2j-3k. c=2i—j+k are three vectors. If  is a vector such
that 1-a =0, r.c=3 and [1‘ ab| =0, then H=

a=i+j-2k, b=i+2j-3k, c=2i-j+k o0 S0t $6%en. 12 =0, 1.¢ =3 HB»

|Tab|=0odgbyr I oF e 568 608, H:

Options :

Question Number : 34 Question Id : 64041116514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mean deviation from the median for the following data is
Bob SeeoTRE shggiiso otk shgph ddedo

x| 9 3| T 2|5

1

fl11|16 (2|8 |4

1

Options :
=
1% 21
12
2. % 7



Question Number : 35 Question Id : 64041116515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A company representative 1s distributing 5 identical samples of a product among
12 houses in a row such that each house gets at most one sample. The probability
that no two consecutive houses get one sample 1s

a8 Boad 1'533[ ]E'E‘U._;n,. a8 '(:SE‘_‘? L% C[Lué 5 tth\{\ ESTMCS:J'U e ﬁn_rﬁ‘_il 2.8 D g &
12 mois, &%“;__éé z068 ﬁc-a;DrF a.88 aﬁé Do Hodhénge &ﬁi Q) Both DDA

5065 a8 oo Ko Hogrid

Options :
99
1.4
5
12
2. %
4
13
3. %
5
31
4, %

Question Number : 36 Question Id : 64041116516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A and B are two independent events of a random experiment and P(A) > P(B).

1

1
If the probability that both A and B occur is P and neither of them occurs 1s I

then the probability of the occurance of B 1s
A oBoim B a8 afrthis (cirro Ging) Coth Ko spéxden spbatn P(A) > P(B)

A 508cm B Botr Hodfo Fﬂ(ﬂ}é R0grags 6

1
3 wond, B a8 Ke Hogri

Options :
1

1. % 4

s | —

2. ¢

b2 | —

3. %

Question Number : 37 Question Id : 64041116517 Question Type : MCQ Option Shuffling

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two dice are thrown and the sum of the numbers appeared on the dice 1s noted.
If A is the event of getting a prime number as their sum and B 1s the event of

getting a number greater than § as their sum. then P(A ’“E) =

Boto DL DB, A é%\.oé- Hogge I HBoTrd. 8 Jueed) o
e Doggre groliéo wRB Hotod A 5H6chn 8 ol 0,3.55?:) ey grotdo e3b
D&% B 008, @5pth P(AN .B)

A

|
—~ hBahn Botr Hogidose Hogriyd

:Yes



Options :

2.

4. %

Question Number : 38 Question Id : 64041116518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A family consists of 8 persons. If 4 persons are chosen at random and they are
found to be 2 men and 2 women, then the probability that there are equal
number of men and women in that family 13

2.¥ Ltnonodt 8§ Hob 3 5e0 ﬁa*gf;& g Biénomo ool 4 Kb otiﬂﬁ;&t;?éorw

:.L -Ll
QoY TP TBE° aiith Hthen, 5t Hirten 608, & Hitnowod® Hhipen

£oBckn HoSren D5rd Hoad® sotedd Ke R0gPigs

2

Options:
1
1. ® 5
3
2. % |
2
5
3. %

4.+



1| 2

Question Number : 39 Question Id : 64041116519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of trials conducted 1n a binomial distribution 1s 6. If the difference
7

between the mean and variance of this variate 1s -? then the probability of

getting atmost 2 successes 1s

2.8 B3t Dgrasiiod® Aerodd chame Hogg 6. & Suord n¥) @08 HeEhin
[+ 9] - [~ v o5

AT
$obain 5‘3{;’&%&3@ B0 ? wond, K8norr 2 Hedeid srolieel8 Ko R0grags
Options :
106
6
1w 4
144
46
2. ®
126
40
3. ® 4
154
10
4. 4

Question Number : 40 Question Id : 64041116520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Let X~B(n, p) with mean 1 and variance 2. If MZZGE and M+'32= 3, then
P(X<3) =

wo Hiiso L SBok 85 B 67 o8 X-B(n, p) eefod. N=26" FBow

N+67=3 wond, eispP(X <3) =

Options :
4
49
1.
2
43
2. %
100
3 % 101
15
16
4, &

Question Number : 41 Question Id : 64041116521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A(cosa.sina). B(sina,—cosa). C(1.2) are the vertices of a AABC then
the locus of its centroid 1s
AABC %-U';f‘_:) A(cosa.sina), B(sina, —cosa). C(L, 2) wond ©|@82heo Gng)
Soltd griisn ) Dot Hiso
Options :
3(x*+y)—2x—-4y+1=0

1.4

L )
X*+ ¥y 28 -=4y+1=0
2. %



2(x* +y)-2x—4y+5=0

Question Number : 42 Question Id : 64041116522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the axes are tl‘anslated m the orthocentre of the triangle formed by the points
A(7.5).B(=5.-7). C(7.=7). then the coordinates of the incentre of the triangle
in the new system are

A(7, 5), B(-5, 7). C(7. -7) Sothhes® &,eﬁa (Bghezo GIng) 2080|850 lalsy
BEPOI WRPOSE 5B ma R g é @ (Bghao @) ©odd Solo G

m':fi.}:x..':@_,u
Options :
1. % (-6:0)
=7
B
2. %
‘ —12 12 ‘
Y2 2usfa
3.¢¥
[ 5 2.—?@]
4, %

Question Number : 43 Question Id : 64041116523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The angle made by a line L with positive X - axis measured in the positive

m
direction 1s ¢ and the intercept made by L on Y - axis 1s negative. If L is at a

distance of 5 units from the origin. then the perpendicular distance from the

point (L—«E )m the line L is

; : : o 0
L o3 o 36560 &85 X - oZos’, HHIE° EDANIPE ﬁ@é& &%a0 E EAVoloN)Y
Y - ofoa L 32 wodspoo ﬂﬁj&&ﬂé&éo. Sirefotnd) Hob 5 ahrdé drdost L
&08, SRl [1—\ﬁ] Dothd Hood 55¢0w L % Ko eoatirdo

Options:

1.*2

Question Number : 44 Question Id : 64041116524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
; . 1 :
L and L, are two lines having slopes 2 and 5 respectively. Ifboth L and L,

are concurrent with the lines x—y+2 =0 and 2x + y + 3 =0, then sum of the
absolute values of the intercepts made by the lines L and L, on the coordinate

axes 1s

1
L, 56ain L, en 385 areven 2 60 H DAY Open. L, $6ain L, en
Botir X—y+2 =050 2x +y + 3= 00908 edism wows, MErsE osod
Dwen Lli L, e 39 Lodbporre D55 dende o

Options :
1. %
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Correct Marks : 1 Wrong Marks : 0

The LinesL :y—x=0andL,: 2x+y=0 intersect the lime L, : y+2=0at P
and Q respectively. The bisector of the angle between L, and L, divides the
line segment PQ internally at R.

L :y-x=058am L, 2x+y=0 58¢0pen L, : y+2 = 0 O $toidre P
nodn Qe aﬁc‘é pobod. L, $8afn L, & & Ko &0 g Sl elaty o8,

PQ Bgr pow=)) R ég wosborr dg80b.

Statement-I : PR:RQ= 2\/5 \E

B5550-1 . PR:RQ=12y2:45

Statement-II  :  In any triangle, bisector of an angle divides that triangle
into two similar triangles.

HdHo-11 . O 1Bgheos’ o8 ' SV el O, & (Beherl) Botd

N8R [Béharene D00, @p

Options:
Statement-I 1s true. Statement-II 1s false

(235550-1 Beggo, (D5SHo-IT ebdgo
1.¢

Statement-I 1s false. Statement-II 1s true

5858500-1 e@lsco, HRS50-11 &0
2. W = £l = 2

3. %



Statement-I 1s true. Statement-II is true. Statement-II is a correct explanation
for Statement-I

@5SR0-1 D50, (DHHSHo-II S0 b (HHSHo-1 GoE) SEEE DHBes

H&S50-11

Statement-I 1s true. Statement-II is true. Statement-II 1s not a correct
explanation for Statement-I

@5S80-1 S50, ([HHSHo-1II H850 ©ond ([HSS5H0-1 Bn) JBFD D

EStaintalel) I B=ilnY

o
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If 2x* + 3xy - 2y* — 5x + 2fy — 3 = O represents a pair of straight lines, then one
of the possible values of fis
2x? + 3xy - 2y? - 5x + 26y — 3 = 0 2.8 58€0g0 oSormR ¥edR, £ % Seghc;

Dended® o€ Dend

Options :

285

2 | Lh
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A circle passing through origin cuts the coordinate axes i1s A and B. If the
straight line AB passes through a fixed point (xy.y; ), then the locus of the
centre of the circle 13

Sure Dot Howe D6 &l Hgo Mrssgen AHbcin B e 5 pobifod. AB

- 1 o
%580 2.8 %éﬁo&ﬁ:@ (X1.y1) thore 8B08, & )8 SolEsn qnE) dothigim

Options :

X Y
T

Y=Y

r F, :'.}
Xy; tyx,—42

3. %
X Y
_1_|_"1:2
4. X Y

Question Number : 48 Question Id : 64041116528 Question Type : MCQ Option Shuffling : Yes
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If (¢, B) is the external centre of similitude of the circles x* + y* = 3 and
X'ty -2x+4y+4=0, then % =

X+ =3580mx+y - 2x+H 4y +4=0 o3 e ot ariT &t Solgso

(o, B) wond, @dpd % =
Options :
-3
1. %
=2
2. ¥
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The equation of the circle touching the lines |x — 2| - |}-' — 3| =41s

|x —2|+|y —3| =4 Bpeid ) )80 HEsm dE) HEsHo
B\-'Er' EP,_ T
Options :
x>ty —=ox—4y+5=90
1. %
X hye—dx by + 5=
2. ¥
3 % XoEN R 2y 5 =0
o r__'-}"_ _-:
gx XHY —2x-y 5=0
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If the chord joining the points (1, 2) and (2. 1) on a circle subtends an angle

T

of 1 at any point on its circumference then the equation of such a circle is

2.8 H02 Ko (1,2) %605 (2, 1) HothdHeod €05 ey 0 062 Ko o 2o
E’_E o o
I B
HEIT )83 E'mo i ©ond, ©erod) a8 )8 JahSeno

Options :

X+ +6x—2y+5=0
1. %



XX +y?-6x-2y+5=0
2.9

. x2+y?-6x+2y+5=0
)

4% x2+y’t+6x+2y+5=0

Question Number : 51 Question Id : 64041116531 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the circle which cuts all the three circles

4(x-1)* + 4(y=1* = 1, 4(x+1) + 4(y-1 =1 and 4(x+1)* + 4(y+1)* = 1
orthogonally 1s

A=+ 4y-1)7 =1, 41 + 4(y-17 =1 $bcm 4(x+1) + 4(y+1 ) =1 o3
AR RTR I e_)oa:uﬁljcé?éo 38 Ao gy 58 Smo

Options :

4x? + 4y? = 49

Ax—1)2+ 4@F+1)2 =1

2. %

CEVRVEVES
3. %

A2+ 4y? =7
4. &
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5 15
I
: o ‘ =15
If the normal chord drawn at B \E‘ to the parabola y* = 15x

46
subtends an angle 0 at the vertex of the parabola. then sin ;HOST—SECT:

(15 15 )
¥ = 15% Sovsoaieos \ 75 ) Dot 35 A0S eeon =, © dosecdo

o) 80 aﬁcjﬂ 20 TR, ©IP sin %+cos'T—sec— =

Options :
0

1. %

Question Number : 53 Question Id : 64041116533 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
g i)
. . X § .
If a tangent having slope 3 to the ellipse =5 *73=1 (a>b) is a normal to the
] a
circle (x + 1)* + (v + 1)* =1, then a? lies in the interval

b i

_.-

¥ : 1
_a"'b_l:l (a>b) oy éa:‘ajﬁé 3 e EDRAS 2.8 D0, a‘;g*-etéo
a ol j, w .

xX+1P+(y+11=1 % 2.8 ofooudy wons, a’sot ©osto

Options :

3
Wo
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Question Number : 54 Question Id : 64041116534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

|
Let P(asec 6. b tan 6) and Q (a sec ¢. b tan ¢) where 9+¢=; be two points on

p) i
2 2
the hyperbola —l—z—:f 1. If (h.k) 1s the point of intersection of the normals

drawn at P and Q. then k=

(=]

m
P(a sec 6. b tan 6) 5805 Q (a sec ¢. b tan ¢). 9+¢:E' o 88 Hoededho

g ji
X~ & )
—~>5=1% fo doh Bokhiyen w88, P $6dm Q ‘6% ADYN wfooniine
g~
20858 Dotv (h. k) wows, wpth k=
Options:
g g,
a~+b~
1. % a
f i ¥,
a~+b~ ‘
b
2.¢



fo Y
| a°+h°
d

7 7
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7 4,

- - f -ﬁ '\.I
L - G 4 2
If the angle between the asymptotes of a hyperbola ——-—=11s 2Tan 1; —
ﬂ- b' X 3 ¥
and a’ —b? =45, thenab =
x? v 1 2)
— =] eddriecho Gin¥) ebod E’;éﬁegm 20 Heo S'gao 2Tan 1 - A alon)
a.—- l_:ld- L)

a2 — b2 =45 eond, oHpth ab=

Options :
20

1. %
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The point 1n the xy-plane which is equidistant from the points
A(2.0,3).B(0.3.2)and C(0. 0, 1) has the coordinates

A (2.0,3).B (0.3, 2) &8an C(0, 0, 1) DothHe Hob S8ms Krdost sod
Xy-$006°) Hoths) @nE) DErHseen
Options:

(3.2.0)
1.¢

L« (23.0)

R
. (2.0.8)

J(BY

Question Number : 57 Question Id : 64041116537 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the direction ratios of two lines L, and L, are given by (1. -2. 2) and
(-2. 3. —6) respectively. then the direction ratios of the line which is
perpendicular to the lines L and L, are

L 6o L, @ opo B Roggen e (1,-2,2) 5hbakw (-2, 3. -6) aé&a:-&?a,
L, £6ahn Llfﬁzg@é} ©0R0MT S0 0 GIos) 65 RoggeD
Options :
-
- (1.2, 3)

, % (-2,3,5)

(6.2-1)
3. v

L x @713)
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Correct Marks : 1 Wrong Marks : 0
If the image of the pomt A(1, 1. 1) with respect to the plane 4x + 2y +4z+1=0
1s B(a.p.y). then o +f+y=
4x+2y+42+1=0 8oo &yps AL, 1, 1) Dothsh) o) (H8&omo B(a,f.y)

©ONd, o+ B+y=

Options :

_h
n

16
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T X+2sinx+3tanx—tan” x

x—0 S _ T
Jx'+25111x+ta11};+3 —\/5111'x—2ta11:~;—}:+3

Options :

23

1.¢
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Question Number : 60 Question Id : 64041116540 Question Type : MCQ Option Shuffling : Yes
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(3-x)*(6+x)>

(12+x)°(9-x)*

lim
X —>or

Options :

15#360

Question Number : 61 Question Id : 64041116541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a real valued function
rlog[l+[x]). x=0
f(x) = Jlsin_l[x]. -1<x<0
fla(['m]+|:)r;|) x<-1

1s continuous at X =—1. then k=
Tog(1+[x]). x=0
l

f(x)= 1 5111_1[}1]. -1<x <0

lk['[};]+§:~:|]. X <—1

2k

g

&=

0y a8 e Surex Hahoho X =-—1 B8 DNHDB, oXptd k=
! At

[w o



Options :
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Correct Marks : 1 Wrong Marks : 0

i Ft T
: | d=v
If y=Sin?! | — | and - ‘ =k.then 25k =
L\ 14+x” ) 2l
i b X=4L
) [ d?
3 2% L d-y
y = Sin™! : ‘ S0Bd%n ‘ = =k wonsd 25k =
L 14+ xX” L dx” b v
Options :
g
\3)
1. %
(-2)°
2.9
3
3. %
9y
4, % { )
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o
Iff(x) = x> % thenf'(2) =

Options:

A3 _
'T[rr—\/glogz)

1. %

2:6

(r-r+v'§10g2]

1."[3

[n+wf§log2}

3.¢

/6

o

e

L {'I—ﬁlogz)
4, ® .
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Iff(x)= Sec‘lt 2x2 1) and g(x)= Tan™ . then the derivative of

X

f(x) with respect to g(x) 1s

o) [ iadi

f(x)=Sec™! ‘k 12 _1 i £8cin g(x)=Tan'

5 ©ond, g(X) a5 1(x)

l'\ /

ang) wideno

Options :

3
1+x~

W1-x7

1. %



4[_1—;5')
1+33
3. %
41+x%)
]—};2
4, &
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Correct Marks : 1 Wrong Marks : 0

If the tangent to the curve xy +ax + by = 0 at (1.1) makes an angle Tan™ 2 with

_ a
X-axis. then —— =

a+b
5 L hy = ) e B 3 o cm_{»{“._é‘ 7 e~ cb L5 b,
Xy +ax + by = 0 &ge08 (1,1) Dothsh 5¢ ADS J¥Pe X-wgos I Eewo
ab
Tan!2 wows, —— =
a+b
Options :
1. % :
5
2.¥ ~
3
3. %
4% 4
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Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

If the displacement S of a particle travelling along a straight line in t seconds
is given by S = 2t + 2t — 2t — 3. then the time taken (in seconds) by the
particle to change its direction 1s

t 2ot 2.8 $5¢0y Foad (DOSPHN) a8 Brao GIng) é];ﬁ[gp’or‘éo
S=20+2t-2t- 3 e siE, wipth @ Smo o) HFDH SrtHTol 8Hd
Hoaho (REHedd)

Options :
i
3
1.

12 | —
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If the function f(x) = x* + bx? + ¢x — 6 satisfies all the conditions of Rolle’s

(243+1)

theorem in [1. 3] and f':

5 )

[1, 3] & f(x) = X} + bx? + cx — 6 [pbcho & drpodo Gng) o) Achired

([ 24347 )

EnHHhob Hddin ' ‘: 0 wond, epeh be=

gl—= ‘. _\/g |

Options :
18

=0.thenbc =

1. %



2. -

38
3. %
4 % —46
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Correct Marks : 1 Wrong Marks : 0

If P (0, B) is a point on the curve 9x? + 4y* = 144 in the first quadrant and the
minimum area of the triangle formed by the tangent of the curve at P with the
coordinate axis is S. then

Ox2+ 4y’ =144 3w Jndd 50650 Hothd P (a, B) $8akn P Hothd) ‘chj &
HiseRE He }fg:?%'rjag DErHE @‘fﬁwﬁ .':'I:c‘jccfﬁd) Bahezo o) A J&ego S Lo,

o}

-
Iy
3

Options:

S=aufp
2. %

S=2,/ap
3. %
4wS=2uB

Question Number : 69 Question Id : 64041116549 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3
j(bg?x}dx:

Options:
1.¢



:{[(h}g.‘-‘x}‘%—i[lugix}l +6{log2:{)—6} +c

%[4{1{*@ 2};}5 —6(Iog2x'}: +6(log 2}{}—3} +C

2. %
X 3 2 :
—[(log?x_} —3(log2x) +3(10g2§=;)—6}+c
3. % 2
(i b ; .
XL(logh;}i—ﬁ{10g2};)'+]8{10g2};_}—54}+c
4. %
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Xx+1
j(x—zwl—xd":

Options :

log(x+1)-log(x—-2)v1l-x+c

1. ®

log(x—2)~1-x+c
2. ®

6 THII_I\/I—X—E\/I—K-I-C
3. %

4 Tan_lw‘l—x — 23 1—-x+c¢
“
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[l e
l+x+x~

Options :
2 . [2x41+43)

£ e ‘
\ED | 2x-1- \/_ +cC
1. %
Llog‘f 2x+1- \/_
- J3 =y “’x+1+~,/_
. i 1“-.
—Tan i <21 +C
|
R Rl O
2 _1f 2x+1)
) FTM | ﬁ | C
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If.[ » =1(x) +c, then 11111 f(x)=

‘{tanh+l] 2l

dx ﬂ |
j > = (%) + ¢ wond, wdpd Im £(x)=
(xtanx +1)~ s

Options :

T
1. % 2

2

P
2. ¥
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Question Number : 73 Question Id : 64041116553 Question Type
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Correct Marks : 1 Wrong Marks : 0
i 2
j sin® x cos? xdx =

Options :

;4 A
SN XCO0s5X SN XGOS X 2cosx

- - +C
5 15 15
1.¢
iy : ol o e
SN XCOSX  SINTXCOSX  2CO0SX
- — + +C
5 15 15
2. %

" ; B
S XCO0sX S XCOsX 2x

- - +C
5 I5 15
3. %
sin*xcosx  sin“xcosx  2x
+ — +C
5 3 15
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; % | 5 & . 2R . 3 ;L

Im — | sin— +sin— +sin—+ ... +sl— | =
nsw2n| 2n 2n 2n 2
Options :

1.¢ 1

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



2. %
,_1_

3. %

4% 3
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i

i . q 3 ; i y . 3 F |
[[Slll' X CDSJ X 5111_1?{ COS_‘ X+s8sm™Xx CGS_TF x |dx=
0

Options
873
2240
1. %
am 12
5 % I28. 35
1641
4480
3. %
In. 4
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128 35
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Options :
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The area of the region (in sq.units) bounded by the curves x* + y* = 16 and

-’_

y° = 0X 1S
X2+ y =16 HBcn ¥ = 6x o7 Herod HoagdHdly HDEn Eng) dTopn
(Bn o5orRes®)

Options :

o Ama3

%(4,-r+\/§ )
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If a and b are arbitrary constants, then the differential equation corresponding
to the family of curves y = tan (ax + b) 1s

a Sbcm b en er:fiSEj_Q‘-h g Yorosewond, y = tan (ax + b) &3 Hpee Hénoardd

mmrﬁz’aéﬁmu whdod H888mo

Options :

1. %
- (1+¥)y. —2yyi =0
[1+x2)}r2+2j}r‘f={}l
3. %
(1+¥%)y,—2yy; +y=0
4, %
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Correct Marks : 1 Wrong Marks : 0
The general solution of the differential equation xy(y+2)dy +(y° —1)dx =0
1S
xy(y +2)dy + (v’ -1)dx = 0 o3 o880 $588n0 Gng) Feeden FES

Options :

2
log|x+2y|[+—Tan

1. % .\/g

F—Xﬁ_c
L V3% )

|
log|2x —y i+€Tan

3.¢



2 Fep N
log|xy —x|+——=Tan"~ 23+

G

]_ '.}1;”? |
102|1+}|+ Tan ‘
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T

—+ysin 2X
dx

The general solution of the differential equation (1+sin”x)
Ly .
=COSX +sIN° X COSX 1S

7 A
(1+sm x)—
) dx

. E -
ysin 2X =CoSX +5iN° X coSX @d¥es $inéseno @’ rpedes
Eviaty
Options :
i - 2
(sm2x)y=sin"x+c

i3 ; sin” X
(l1+sm X)y=smx —

=3
2

1 X

i ; sit
(I+sm”x)y=smx+
3.

4l
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If force :+.then the dimensional formulae of ¢ and P are respectively
density +
u o £ B o B, o
200 =—— O, o N0 P o hddh grinoren KO
Joolhe +J *
Options :
IMIAE] ML TY
1. %
[]\,{] L4 T—J]_ [3’[13 L—l TD]
2. %
[I\-{] L—E T_J]. [}113 L—l TD]
3.¢
[IMAL2T . [MI2 T
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The displacement (x) and time (t) graph of a particle moving along a straight line
is shown in the figure. The average velocity of the particle in the time of 10 s 13

2.8 $65¢0n Fowld KHdost &% dwo g a;%ﬁ@"o%o (x) obsin weo (f) o (s

=2

4608° Sr5a858. 10 2E50 sood & o D5t IKo

X(m)
A
100 4
80 -
60 1
101
20 4
0
Options :
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3. %
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If the horizontal range of a body projected with a velocity 'u' 1s 3 times the
maximum height reached by 1t. then the range of the body 1s
(g - acceleration due to gravity)

u' K08 (HBdo Dohads ¥ S5 BB SXrods g, ©b W0 KO3, % 3 By,
o0 © S dng) aege)

(g - 1hto &)

Options :
21
3g

1. % e
4u’
S5¢

2. %
12u?

3 % 13g
24u°
25¢
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If the velocity at the maximum height of a projectile projected at an angle of 45°
is 20 m s, then the maximum height reached by the projectile is
(Acceleration due to gravity =10 m s7)

45° E'n08" (H8:0 Johals o8 HENo 08, o o 163 ) 8 20 m s eand,
(5a80 365 K63 O

(1o &ideso = 10m s7)

Options :
1. %



10 m

20 m
2.

30 m

40 m
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A body of mass 'm' moving along a straight line collides with a stationary body of
mass 2m'. After collision if the two bodies move together with the same velocity.
then the fraction of kinetic energy lost in the process is

?ﬁiﬁtfés:né‘ K08 &) '’ (535078 Ko a8 Sins), V) oR8 a6 &) '2m’ @éw% e
A & wfirdo T2%. wdirdo $ed o ) HRder 8O 28 aros” ERDY, &

[BI80DE" K éﬁ-ﬁ“ é“éﬁ;cmé arlio

Options :
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2
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If a body of mass 2 kg moving with initial velocity of 4 m s is subjected to a
force of 3 N for a time of 2 s normal to the direction of its initial velocity. then the
resultant velocity of the body 1s

4m s &9 Frfos® S0 2 kg (B8 Ko a8 SHp o & IS woa HIE
2 s 5000 apén 3 Naer ) (QErADS, @ S dng) HDS 30
Options :

~ —1
1 % SIS

SmE?!
2. ¢

2ms!

T.5m s
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If a constant force of (2i + %J +4k) N acting on a body of mass 5 kg displaces it

from (3{ —41:;] m to (2{ I5 zj+ 31:;)111, then the work done by the force on the
body 1s

5 kg (5eseed Ho a8 i 8 30‘5(01‘,5*“'“_ e.8 mr’ 2e0 (71+ %J+4k] ERA
Bi-4k)m $0d (21+2j+3K)m % Figodo Bobodd, © awo Hod EHD

—_

Options :
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A motor can pump 7560 kg of water per hour from a well of depth 100 m. If the
efficiency of the pump is 70%. then power of the pump is

(Acceleration due to gravity = 10 m §7)

% Frerb $05 100 m &% Ko 2.8 o0 H0d Kot 7560 kg DB Sxem. HodH
588 0% wond, © S FHo

(1’*17639‘_‘6 %80 = 10ms™)

E‘J

Options :
4 kW
E

6 kW

3 kW

7 kW
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A circular disc of diameter 0.8 m and mass 4 kg 1s rolling on a smooth horizontal
plane. If 2.56 N m torque is acting on the disc. then its angular acceleration 1s

(Baoe8 4 kg &0Ban argdo 0.8 m Ke a8 eed &Y e 22 RNPOSY

D—
J00p FGHHHE. © S 2.56 N m &b, 59 Tie 608, ood EEF%GS) as«rfeao
Options :

8 rad s
1.9

4 rad s

2. raud 572

16 rad 572
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A solid sphere and a solid cylinder have same mass and same radius. The ratio of
the moment of inertia of the solid sphere about its diameter and the moment of
mertia of the solid cylinder about its axis 1s

& foi5 8o Bk 2.€ Hd m:rwo 28 (508 EBcko 28 o™ w&%"é@ DA aamom.
0% Ko oo 50 SBore Te) extié (grsdEo s0Bdao §bi F’Tmo ©80 Sborr ol atie
[grshBon I3

Options :
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A particle 1s executing simple harmonic motion with amplitude A. The ratio of

the kinetic energies of the particle when it is at displacements of i and % from

the mean position is

2.& o A €05 HBaSEE H8¢ SoedE Sedo édﬁxéz%ﬁ&fz. 850 dreiians %Dveéo
E i“g. oo B8 &x)peh, Swo @) K8es Eo Jid
Options :
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If the potential energy of a particle of mass 0.1 kg moving along x-axis is
5x(x —4) 7. then the speed of the particle 1s maximum at a position of
X-wg0 636" 300K 0.1 kg (335078 Ko &8 o o2 €8 5x(x-4)J wond, & o
56 HogErh ko
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1‘{‘,}{:2111
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Question Number : 93 Question Id : 64041116573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The potential energy of a satellite of mass ‘m’ revolving around the earth at a
height of R_from the surface of the earth is

(R, - radius of earth: g - acceleration due to gravity)

‘m’ Beoe8 BDA, 4 658800 ok R &e‘_@c«ﬁﬁ girdh hép JBFMNR) 2.8 sifero

i

e
iy § A oYY
(RE = 25.1 OJ”;J;G%O. g ' ﬁ)&.}@m jm\éEUD)
Options:

—0.5meR
1.4 se

—mgR_
2. %

—2mgR_
3. %

—4mgR
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The elastic potential energy stored in a copper rod of length one metre and area
of cross-section 1mm’when stretched by 1 mm 1s

(Young's modulus of copper =1.2x10" Nm™)
£ 1m Bakn HiD)s ego 1 mm’ Ko & oh Eé.":. Imm K6 éﬁeﬁ“
(ooh a0 hmgo =1.2x10" Nm™)

Options :

6x10727T
1.4

3x1072]
2. %

60 J

[
e
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When the temperature increases. the viscosity of

SRS DOASHPD, By

Options :
gases decreases but liquids increases

secinsedt & 3;;6_‘530& 528 (Saree® 2hirHsod
1. % )

2. ¢



gases increases but liquids decreases

aindes® 1SN0 520 (Barest S

both gases and liquids increases

secainshen BcH (Baren BolodE® %rHehod

3.

both gases and liquids decreases

onden Hbdn [Baren Bolods Srpenok
4. %
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Ifa body cools from a temperature of 62 °C to 50 °C in 10 minutes and to 42 °C
in the next 10 nunutes. then the temperature of the surroundings 1
8 5% 62 °C 8fKE Kod 50 °C % 10 dsmared’, Hbdin 42 °C & Sox8

10 DiswaPed® Spabd, H6doe efHs

Options :
127

1. %

2\:?,26”(‘

3 36 °C

21 2¢
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If the ratio of universal gas constant and specific heat capacity at constant volume
of a gas 1s given by 0.67. then the gas 1s

PEyBE arcin mt:m?%& 28 arcndHs miﬁ 50Eres0 5 ﬁcg_aﬁﬁigé o8

.

&

ﬁu U}:Lita 0 6 'S_-'JU}JP_'? 89 o™ m:ﬁ

Options :
monoatomic
'-\§‘f‘ ol J7ED

PR H8Hees0d
diatomic

5 ExHBTEnE
polyatomic

3 % BTVHBRTE0E

a nmuxture of diatomic and polyatomic gases

Sepideireand s0bain asFdtiirmmE srcdinide oldsho

o

4. %
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The mternal energy of 4 moles of a monoatomic gas at a temperature of 77 °C 15
(R - Universal gas constant)

77 °C 6888 &8 Ho 4 drde 2ES8SrmE raing En) ©osd¥ 48

(R-7FERBE et %U”Oé@)

Options:
| = 1500R

1800R
2. %
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If 5.6 litres of a monoatomic gas at STP is adiabatically compressed to 0.7 litres,
then the work done on the gas 1s nearly
(R - Universal gas constant)

s ; £ . (2 s o ~ i o
STP 5% 5.6 D6 oEBerems ardinidin 98°g8ore 0.7 D685 Kodisdo Bobod,
&9 AN D a6AN 50 Hdrdre

(R - =88 aeain Hoeo¥o)
o "]

Options:

| @ 307R

LH
Lh
2
=

367R

407R
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If the rms speed of the molecules of a diatomic gas at a temperature of 322 K is
2000 m s, then the gas 15

(Universal gas constant = 8.31 J mol™ K)

322 Kﬁé;gﬁeﬁ cﬁ?g 2.8 Brdiremd sraing) emide ms H56 2000 m s, womd o
)

(FBE ardin Goeofo =8.31] mol™ K™

Options:
hydrogen
L'nJ 'l&;&h.rf\u'

1.4
nitrogen
b E

2, 8 SES
oxygen
es8vezs

3.8
chlorme
&85

4. %
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The equation of a transverse wave propagating along a stretched string of length
80 cmis y=1.5sin {{ 5x107 X) +20 t} .here 'x'and 'y' are in cm and the time 't' 1
in second. If the mass of the string 1s 3 g. then the tension in the string is

80 cm 05 EORD af Fibadatd & Sowd Eordoddd) a8 858 Soro
@8, $8EBe0 }’zl.ﬁsin{( 5><10'3x)+20t}. =85 X' 5060k 'y cm & Hbas
o0 't Dot & 8K Beoe8 3 g wank, & &rste S

Options :

12N
1. %

4N

6N
3.¢

8N
4. %
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When an object 15 placed mfront of a convex murror at a distance ‘v’ from the
pole of the mirror such that the size of the image is “n’ times that of the object.
then the object distance ‘u’ =

a8 S 2.8 Hogrsed SBa0 Ahdre s tﬁej,éo 508 ‘U Er8odt BOUNIPED

o) 8000 HBEFmo %) D050 o8 ‘N’ Bk wand, S dro U =

Options :

f
= _of
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1. %
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A narrow slit of width 2 mm 1s illuminated with a monochromatic light of
wavelength 500 nm. If the distance between the slit and the screen 1s 1m. then
first minima are separated by a distance of

Achalss. Doy, ke gy tedo 1m eons, Snesé é‘i&gJ ot thrto

Options :

5 mm
0.5 mm

2. ¥

1 mm

10 mm
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Correct Marks : 1 Wrong Marks : 0

The force between two conducting spheres of same radius having charges +8 uC

and —4 uC separated by some distance in air is F. If'the spheres are connected by

a conducting wire and after some time the wire 1s removed. then the magnitude
of the force between the two conducting spheres 1s

ed&° o o8 ndchadd +8 uC HH6cm —4 NC st Ko Both 2.8 e

Ko eed Fhgee ek 200 F.o Ao e il B8P K09 Fodsreo $harsd 855
. s = £
Gofodld, Both Aeee s aoo GnE) HBrao

O
)

Options :

F

1. %

co | Fr to | Hr

+ |
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In space the electric potential varies as V=20 ‘I| volt, where T =xj+ V_] +7k is

the position vector. Then electric field in (N C) at the point (4 m, 3 m, -5 m) is

wosTo8® g SFERAHS V = 20[t] volt gsvbo drtoho, 545 T =xi+yj+ k

35 908, wowd (4m, 3 m, -5 m) othid $ kxS o (N C6°)

@

Options :
1. %



—/2(4i+3j-10k)

—/2(8i+6j-10k)

2.
—(8i+6j-10k)
3. %
4i+3j-5k
4. %
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A capacitor of capacitance 2 UF is charged with the help of a 60 V battery. After
disconnecting the battery, if this capacitor 1s connected 1n parallel with another
uncharged capacitor of capacitance | yF. then the potential difference across the

plates of 2 uF capacitor is

i HF SIL n.. w ﬁ”_,- 2 ::.1 c\_Jw“E) 6[} V V’T"C\Aﬂ C"“_El °_90J'%P_‘?‘D Lmaﬁé& E.TD\Iwém
&ohod, & Sardedd) 1UF Sard 1::.\ rﬁb S5 ¥ 808 Bardebs® Sdrodborr
Kogrdo 3%, 2 UF 8aheb S g EPECHS 280

Options :
L 30V

60 V
40V
3.¢

4. %
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The readings of the voltmeter and ammeter i the circuit shown in the diagram
are respectively
26080 A H0chos’) SGihed Hbdh edytd o 68 SR

ot
&

51,.-'I|IQ , 060
i L
\_OJ 12V
40 3- "+ %0.4(2
N
+é’—
Options :
SV.3A
1. %
TV,.3A
2. ®
5V.1A
3. %
TV.1A
4.+
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When two 1dentical batteries of mnternal resistance 1Q each are connected in
series across a resistor R. the rate of heat produced i R is P,. When the same
batteries are connected in parallel across R, the rate of heat produced is P,
If P, = 2.25P,, then the value of R is _

2588 1Q F:C'OQ;E)&SBC_SD Ke» Both HEErE et % B Jogrhod® R 96808
EDaIPD, o650 R & éé 6868 Bén Pl. @'5 A &EJE 5 BEross dogrdod® R
“55@1»% BDRNIPED EM mé & Oén P @D;Jé&.. P1 = 2.25Pl wond R Dend

Options :

20

1. %

Z.ﬁ}fﬁlﬁ

10 Q

12 QO
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The magnetic field at the centre of a long solenoid having 400 turns per unit
length and carrying a current 'i'is 6.24 x 107 T. The magnetic field at the centre
of another long solenoid having 200 turns per unit length and carrying a current

L
g
2

ase08 EreéhE 400 ey ¥DAHIY) 2.8 Erti3 EOonES® i 'S o
Soo e edharod '5’@0 6.24 x 107 T wseo¥ BrEH 200 iy EOA &) HE°

v 55808, o0 Bolo 5% ©dhiFd g0

Options:
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1.56x107 T

2.4510°T
2. ®

26x10° T

2.6x107T
4. %
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If a proton of kinetic energy 8.35 MeV enters a uniform magnetic field of 10 T at
right angles to the direction of the field, then the force acting on the proton is

(Mass of proton =1.67x10%" kg and charge of proton =1.6x10™ C)
8.35 MeV 18 48 Ko o8 gfrs 10T DECS Eldﬁjrﬁféoé g@ﬁ&ﬁﬂfﬂgjg E’:’ﬁ BHE%
w00 (8008, @ FHrSR ;':uﬁjé-ot'miﬁ}é&i DO

(8rerS 58508 =1.67x10™ kg Hbctn @Férs 3o =1.6x10™C)
Options :
48x10° N

1. %

16x107* N

64x10" N
3.¢¥

32x107°N
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A sample of a ferromagnetic iron in the shape of a cube of side 1.0 um contains

o . . . - .
8.7x10°® atoms per cubic metre and the magnetic dipole moment of each iron

i _24 2 . - . '
atom1s 9.3x 10" Am~. Then the maximum possible magnetic dipole moment

(in A m?) of the sample is nearly

1.0 pm #Hheo Ko o wseo &° " 61 (6" wchar éoé 23 S0 éﬁ 05 b

- 2 .
8.7x 1028 H5smeen E0%), HBA (98 9 ST ©dh) 5@@ leesiogo

03%107% Am?. é}fﬁa ﬁ»ég r"’.bm‘urr e L“,i e &ciqjlvéoeé Eﬁ;ﬂj@é lgeego

(Am’&%) Hdrdhm

Options :
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1. %
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81x107"
3.¢¥
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When current in a coil changes from 2 A to 5 A in a time of 0.3 s. if the emf
induced 1n the coil 1s 40 mV. then the self inductance of the coil 1s

2.8 &K ﬁtéﬁ DS [arero 0.3 s 5005° 2 A08 5A & Sr050pth 8K H6s°

@6 emf 40 mV. wond e Sikhey Seule -[ﬁ:iﬁéééo

Options :

4H
1. ®

4 mH
2.

40 mH

4 uH
4, %
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In a series LCR circuit, the voltages across the capacitor, resistor and inductor
are n theratio 2 : 3 : 6. If the voltage of the ac source in the circuit 15 240 V, then

the voltage across the inductor 15

o8 36 LCR Sechod® 8ah6b, 60580 &bch @8% Hi grafchde Q8

2:3:6. $00008% ac a5éo g2 240 V, sand 8% 82

Options :

_— 240V

144V



96 V

288V
4. &
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If a 10 W bulb emits electromagnetic waves uniformly in all directions. then the
intensity of light at a distance 0.5 m from the source 1s nearly

T = N I 5 ) L = o 5
28 10 W ooy diiye edbamod déorreih of)) Hiod” DEbam ﬁm;ﬁ;’&g 3o, &

aoy) ®o6 0.5 m &rdo HY s0d 858 Bokrre

Options :

3.18 Wm™
1.9

0.31 Wm™

0.62 W m™

5 Wm32
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The ratio of de Broglie wavelengths associated with thermal neutrons at

temperatures 127 °C and 352 °C is

g4y 1 y v .-.;-1'. 3 ‘_{ Q.'_L u| I . |_: i = B LByt
127 °C 60k 352 °C a5f(ido 58, saad drglre & @rd ddofido so id
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The ratio of the time periods of the revolution of the electrons m the second and
third excited states of hydrogen atom 1s

Y- T Y £V = NGV SR . T [0, 17 . VRN, . SRS WP —SBNEY -
3|6 e H8EreHE’D Botd HHbon Hrd 6388 Fowed®d dughe Ho(ghe

A
[ ~8

358 seere) D8

Options :
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If the surface areas of two nuclen are m the ratio 9 : 49. then the ratio of their
mass numbers 1s

- L 1w o . o
Both Soliisre &:i08e Javeme A8 9 149 eond, rd (Bioed Sogge A8

Options :

o 27:343
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In the given options. the diode that 1s forward biased 1s

Babd dobed® Eark 2B°8Z0n SrrDoHRH

Options:

+2V +3V

+2V -2V
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In a common enutter transistor amplifier the resistance of collector 15 3 kQ. If

the current amplification factor 1s 100 and the base resistance 1s 2 kQ. then the
power gain of the transistor 15

28 eyl amod dgiod &) ;giFFC;:,%E égéo ) HEB 5%0 3kQ. o)

£ . o £ " L e N .
e 5% s8¥o 100 H8ch egrd 6% 2 kQ, wond ()00 s )8

la)

Options :
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1. %

, « 10000

1500
3. %

15000
v
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The layer of the atmosphere that reflects low frequency (LF) electromagnetic
waves during day time only 15

S Fdsdiiso (LF) ke Debstiahimnos dborreid Hifen Siahod® driga oo

=N s . |
3060 PEdbn) TRY
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: i g 2
a, b. c. d are electromagnetic radiations. Frequencies of a. b are 3x10"° Hz.
2510 Hz. respectively, whereas wavelength of ¢, d are 400 nm. 750 nm.
respectively. The increasing order of their energies 1s

Z . A q
a, b, ¢, den DiipgtSctodmod D8Geen. a, b o s 6% 3x101 Hz.

2x10" Hz & ¢, d o 850538 g e 400 nm, 750 nm. 8 $en 260
[sfantvy

Options :

v b.d.c.a

i e b

a0 ¢:d

4% b.c.d.a
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The number of electrons with magnetic quantum number, m, = 0 in the elements
with atomic numbers Z = 24 and Z = 29 are respectively

8re Doggen Z = 24 Hnbdio Z = 29 Ke Sirosod edharod sxobo Hogy,
£ =
m, =08 &) oy Sogy BT
Options :
1« 12,13

, = 12,12
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Which of the following orders is not correct for the given property ?
Bob [Edred® 0O =3 kb8 Hoy08 HEENG o ?
Options :
Li < Na < K - metallic radius

o

B
G aEErdo
2 o

1. %
Br < F < C] - electron gain enthalpy
DUE;[?E e Qogred:
2. ® A . =
C <N < O - first ionization enthalpy
It ©o@ITAS Doged
3. \"’/ el
2+ + =E g B L
Meg“" «Na™ <« F - 1onic radius
drdE aeardo
4, % @
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Match the following

8ol a&D esessitdol

List-I (Molecule) List-IT (Dipole moment in D)
a1 (208)) P11 (8o (oo D o)
A) Her I) 1.85

B) NH; 1) 1.07

C) H,0 II) 0.23

D) NE; IV) 1.47

The correct answer 15

Options :

A-IL. B-IV, C-I1, D-III
1.¢

, A1V, B-IIIL C-1, D-II
A-II. B-1. C-IV, D-III
3. %

A-TII, B-II. C-IV. D-I

4, %
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Which of the following sets are correctly matched ?

Bob o Dinsen JBm adKPERD ?

Molecule Number of Hybridization

Ohcat) lone pairs of electrons Ro¥dEsmo
on central atom

Sol¥§ H8Erend i 2008

2o a@[!g;;ﬁe;: Sogg

I) PCl; 1 sp3
1) SO, 2 sp>
1) SE, 2 sp*d?
IV) C(F; 2 spid
Options :

[ &I
1. %

IT & 111
2. ®
L &IV
s 1&IV
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The correct equation for one mole of a real gas 1s (a. b are constants)

28 S Desaraing HBGEHD HdEsesn (a, b en QOPOSED)




(" o ol T
|p—— |(V-b)=RT
\ V)

2. #
y |
| +— (V+b)=RT
I'-._ T\‘-‘-

3. %
|p+= |(V-b)=RT
V)

4. %
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A and B are ideal gases. AtT(K). 2 L of 'A' with a pressure of 1 bar 1s mixed
with 4 L of B' with a pressure py bar ina 100 L flask. The pressure exerted by
gaseous mixture is 0.1 bar. What s the value of p; in bar ?

A sbain B en est5t) arainsyen. T(K) a’)c‘é: 1 bar 5880 K0 2 L'A' D, Hsdn Py bar
%o4Le 'B'& a8 100 Lamgs 8008, arain diEhdn 80R0d Hisssn 0.1 bar,

Py, Dendd bar o&° dog ?
Options :

1.¢ 2

0.04

Question Number : 128 Question Id : 64041116608 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The mass of a mixture containing NaC/ and NaBy 15 4.0 g. If Na1s 30% of the
total mixture, the composition of Na(/ in the mixture is

NaC] $8dn NaBr &) abigoo (Bigoe8 4.0 g. dndo D¥o0st Na 30% B

DF0E NaC] Hostdo
(Na=23uw ¢/ =355u.Br=80u)

Options :

48%
1. %

Question Number : 129 Question Id : 64041116609 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of extensive and intensive properties in the list given below is
respectively

density. enthalpy. mass, temperature. volume, pressure

1Bo8 a5mbs wrdeedon ) D8 5B Kl oo Sogg Stodre

0|56, &jocﬁé& (55550e8, &8RS, hlNodreao, 580

Options :
L% 42



4. &

Question Number : 130 Question Id : 64041116610 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One mole of ethanol (/) was completely burnt in oxygen to form CO,(g) and
H,0(/). What is the ﬁ.,.He (in kI 11101_1) for this reaction ?
(The standard enthalpy of formation ( A f He ) of C,H;OH(/). CO,(g) and H,0(/)
is respectively —277, =393 and -286 kI mol ™)
28 3r6 2SS (1) 5 w8258 Grbre So8odr CO,(g) 280 H,0(/) en arom.
% $5% AH® (K mol™ o) dos 2
(C,H,OH(l). CO,(g) 160t H,0() & 5wt soien dogebyen (A /H- ) st
277, -393 B0k —286 kT mol™) (g = a»: 1= )

Options :
+1921
1. %
—1921
2. %
+1367
3. %
4 —1367

Question Number : 131 Question Id : 64041116611 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



K
For the following given equilibrium reaction K_C 1s equal to 1076 at T(K). What
P

is the value of T (in K) ? (R =0.082 L-atm K mol™)
N,(g)+3H,(g)~——2NH;(g)

T(K) 5§ 1Bots aiys Sideryd S5 & 1076 % $srdo. T Qend (K 06) aos?
(R=0.082 L-atm K mol™}) (g =)

N,(g)+3H,(g)=——2NH;(g)

Options:

500

1. %

600

3 400

450

Question Number : 132 Question Id : 64041116612 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The molar solubility of PbI2 in0.2M Pb(NO 3 solution in terms of Ksp (solubility
product) 1s

K, (8098 ogo) #bore 0.2 M PH(NO,), iisos® PbL, Sreb [mritabs
Options :

1/2
[P
L 02




| 0.8 )
4, ®

Question Number : 133 Question Id : 64041116613 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following property is less for D,O than H,0 ?
D, 0% H,0 K08 (Bob & SG5n SEP ?

T
Options :
Dielectric constant

AR 8Pe¥ rheso
1. &

Viscosity

N e
[t

Density

2P0l e
3. %

Melting point

EDEHB o



Question Number : 134 Question Id : 64041116614 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following
[Bod &S X8 amgmged HBoBIHW.

A) Among alkali metal ions, Li" has highest hydration enthalpy
e e @%ﬁ“’* Lit % ﬁﬁuﬂ T PEAS &Dcﬁ:gju: &0enob.
B) Boiling point of alkali metals increases from Li to Cs
58 8 5:58ey “"Daﬂﬁ fog‘.:ﬁo L1 %09 Cs % 2%i5.
C) Density of K 1s less than that of Na and Rb
K Ging) aroltis Na dnbain Rb Sam) S8,
D) Lihas strong tendency to form superoxide
Li % {0056 Ew,ujﬁ DEBD ~EE0 IR,

The correct answer 1s
208 Sirgrido
Options :
A&B

Question Number : 135 Question Id : 64041116615 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The correct order of electronegativity of group 13 elements 1s

((5esh 13 Suresee Beadlgrree &eﬁ 0w (oo,



Options :
B>Ga>Al>Ti>In

B>Al>TI>Ga>In

B>Al>Ga>In>TI]
3. %

B>T/>In>Ga:>Al
4.

Question Number : 136 Question Id : 64041116616 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements

DB amgger MBodod. (only =3 ($a)

I) CO reduces the oxygen carrying ability of blood
CO 850 aing) efes Saree Jrenoyty) SHR0B.
II) Producer gas contains CO & N,
ErErs6 mrgn CO & N, 0 80 oinoénob.
III) C-O bond length 1n CC;Z is 115 pm
CO, &% C-0 =otf B4 g5 115 pm

Options :
[ & III only

5 @ LI & IIT

I & II only
3. %

II & III only
4, %



Question Number : 137 Question Id : 64041116617 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The incorrect statement from the following 1s

Bob &’ $Bs5=Q ST58,

Options :
Classical smog is also called reducing smog

KolHorahE :Jt' 3 Boh¥des n..-é_ ©d &rme @otrd.

Common components of classical smog are O,. NO. HCHO

- HodorahE %ﬂéﬁéﬁ ot S0t @ddoéisten 03. NO, HCHO

Photochemical smog leads to cracking of rubber and corrosion of metals
5208 BarcHS mf Sanddt Desen auiﬁlcﬁer )8 Fbotn &% gaird8 Cﬁoﬁwwmﬁ
) o J

Photochemical smog occurs in warm, dry and sunny climate
08 Baedhd #@ﬁ 350, §r& b TS Ashsas 2B 5HE00.

[2-Ea

Question Number : 138 Question Id : 64041116618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IUPAC names of the given compounds (I) and (II) are respectively
=hiCalats) rJ-:u.pJ goeen (1) 08cfn (II) & TUPAC 8 $%&m

l:l_

f J L

@ (II)

Options :
1. %



5-Phenyl-3-nitrobutane: 2-ethyl-2-methyl-1-propylcyclohexane
q_.r\_-f'g %_DJI'EEJUE\:‘!:' éf:t‘?\t- 2 Aﬁfﬁ-z-ﬁ}édﬁ- ]. '@EEQ_] EEE%'E_ET:'_EE;"E

2-Nitro-1-phenylbutane; 2-ethyl-2-methyl-1-propylcyclohexane
- 2-3e58-1 "”jae:u“ S: 2-835-2-035-18F 282 S\E
2-Nitro-1-phenylbutane: 1-ethyl-1-methyl-2-propylcyclohexane
‘&? Z'EL?SE ].'qu‘J\FEE.D"‘é_&@ 1'.&5'&' ]. CEJJ@@' '|é}ﬂ u_.'s_i:_'rdb T':'E\":'
3.
3-Nitro-5-phenylbutane: 1-ethyl-1-methyl-2-propyvlcyclohexane

3-31E°- S'q..l{u_,-a:l_,lﬁﬁ@ 1-335-1-8038-2-F 5 82 "’DS“*E‘
4. %

Question Number : 139 Question Id : 64041116619 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the most stable carbocation from the following
Bob 7B w&c Al rar’j 0 ‘E"E}”‘ setydiEain B0,

Options :

Ph

3.v



CH>

Ph

Question Number : 140 Question Id : 64041116620 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A metal crystallizes in simple cubic lattice. The volume of one unit cell 1s

6.4x10" p1113 . What is the radmws of the metal atom in pm ?
2.8 %0 Forten b erodos 19)B888mo JoBH. 28 rdES 5 8 HdH0Eres0

6.4x10 pm & S 5 a5 fﬁéw pm o6t Jos ?

Options:
100

1. %

3. %

4. % 400

Question Number : 141 Question Id : 64041116621 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the approximate molality of 10% (w/w) aqueous glucose solution ?
(Molar mass of glucose =180 g uml_l}
10% (w/w) (2888 a0 (rdnD dradd HErthm dod?

(K8 rerd (%078 = 180 gmol ™)

.-\.

F'P_rr|

Options :
1. %



0.31 m

0.62 m
0.93 m

1.24 m

Question Number : 142 Question Id : 64041116622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The van't Hoff factor for 0.5 m aqueous CH,FCOOH solution 15 1.075. What 1s
the experimentally observed AT (in K) for this selution ?
(K= 1.86 K kg mol )
0.5m CH,FCOOH ez [mridess) sroths™ theao 1.075. & mrdessind L‘_"‘ﬁ:ﬂﬁce‘%éoﬁ
5680095 ATy (K ©6°) od ?
(K,=1.86 K kg mol™)
Options :
1.156

1. %

. 1.075
2. %

3.v 1.0

4 x 095

Question Number : 143 Question Id : 64041116623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
1Bof s&R) a385thihin

List-I (symbol of electrical property) List-II (units)

a1 =lz-11
(DS B0 ok $o80) (|Boeemmex)
Y A I)S cm !
B) G 1) m™
54 I11) S cm? mol™?
D)G" V) S

The correct answer 1s

008 Jdrgrido

Options :
A-IV. B-III. C-1. D-1I
A-III. B-IV. C-1. D-II
2. ¢

. A-III, B-1IV, C-II. D-I

A-II. B-1. C-IV. D-III
4. %

Question Number : 144 Question Id : 64041116624 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The following graph 1s obtained for a first order reaction (A — P). The activation
energy (E inkJ mol™") and heat of reaction ( |AH|mkJ mol™) for this reaction
are respectively

(x = reaction coordinate; y = E in kJ mol™)

2.8 (S0 (Biieo¥ S5 (A — P) & (Bod (e wfodod. & S5 T e R (E, kI

mol ! o&?) bt SBiisw (| AH |in kJ mol ™ o) $&irm

(x =8 ogo; y=E in k] mol™)

Options:
3 15

Question Number : 145 Question Id : 64041116625 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following

1Sob &0 exeiaitihhaim

List-I (sol)

=hz-1 ()
A) ASESB
B) Au
)8

D) Fe(OH),

The correct answer 1s
2ODH Hargrideimn
Options :

A-III, B-II. C-IV, D-I
1. %

A-I. B-IIT, C-IV, D-1I
2. %

A-IV, B-1. C-II. D-III
3.¥

A-IV. B-IIIL. C-1. D-II
4. %

Question Number : 146 Question Id : 64041116626 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

List-IT (Method of preparation)

>z I1 (Scir5 8%0)

I[) Bredig's arc method
B&EN 735 98

II) Oxidation |
e_e%:,éfﬁsam

[IT) Hydrolysis
E@&-ﬁé@@r_a

[V) Double decomposition

tﬁf\oﬁﬁé Sa@rNo



Which of the following enzymatic reaction is not correctly matched with enzyme
shown against 1t in brackets ?

£

Bob aoBH fjcﬁxu DO ) AH%m @EBed SFhodnkd JoB5Hs ey

S B0DEB%?
Options :
Proteins — Peptides (Pepsin)

FERen —> Eew (2eD)

=

Starch —— Maltose (Zymase)

by — &S (Bhd)
£ wd [+%] e
2.

Sucrose — Glucose and fructose (Invertase)

iE%E — KBS Hbatn HEE =5gE)

[4]

Maltose — Glucose (Maltase)

SrsE —> KEEE (SrEH)
4, ® - -

Question Number : 147 Question Id : 64041116627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following methods 1s useful for producing semiconductor grade
metals of high purity ?

©BE RH8 fo &aé—rﬂ #E3B S5Fed SPolsENE SH@RNNG a’;%ﬂe”_% b ?
Options :

Liquation

Slakyelle
1. %



Vapour phase refining

2y [BRD% S0
2. % = =

Electrolytic refining

Dtcd o
3. % =

Zone refining

Sootée Sesdo
4.

Question Number : 148 Question Id : 64041116628 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Observe the following
Bob =89 H680008  (Products = airamen)

Py +8OCl,— Products

P4 +50,Cl,—— Products

In both the reactions. a common product 'x' is obtained. The number of lone pair
of elecrons on the central atom of x 13

ol ééé&:é’a, 2.8 ﬁ&éjé& (Bairesdso v’ ofodhid. x :ﬁ})ég;go@‘i S85mend) s sotd

2,060 &8 JoEae Jogy

Options :

1.4 :



zero (Zoay)
4. % =

Question Number : 149 Question Id : 64041116629 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The TUPAC name of the complex shown below i1s

K;[Co(ox),]
(Bods Sra Dogho awg) IUPAC &eivo
K;[Co(ox),]

Options :
Tripotassium trioxalatocobaltate (III)

-_-I__ 4ol - Fag _5_6: £ _En-rnﬁ":_
. E,,&”@ﬁu 21090 ‘r%.ur.‘l‘jr?_,.ﬁ Skl (III)
1.

Potassium trioxalatecobaltate (III)

v e e) @Eﬂﬁéﬁ%ﬁaﬁ@ﬁ (1)
2. % T

Potassium trioxalatecobalt (III)

EPerPRch0 (BeiiBesE erd (III)

br

3. %

Potassium trioxalatocobaltate (I1I)

ErPEraI000 @ﬂﬁééﬁﬁgﬁmﬁérﬁ (IIT)
4. e %

Question Number : 150 Question Id : 64041116630 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the ion (hydrated m solution) which 1s not correctly matched with its
spin only magnetic moment (in BM) given in brackets

D wars (rdnod® E8E) @S adR o I errbd wohimed (ko

(BM %) & B 28 BHatBa’ Hbohin

Options :



Cre* (4.90)

1.¢
“T{1.73)
2.
0>* (4.90)
3.
24
L« F&77(4.90)

Question Number : 151 Question Id : 64041116631 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the statements. regarding X 1s not correct ?
3-Hydroxybutanoic acid + 3-Hydroxypentanoic acid ——> X
X % Ho2odHod &od >BE° O agE)y 0seRE 7

3-27| _f"‘é\@ eS°owE essho + 3-3r| C"‘é.mﬂ'wm ong expo > X

Options :
It 1s a condensation polymer

26 a8 Ho5dd Db,
1. %

It 1s non biodegradable
zhH 88 éoﬂﬁ%eﬁo =ilnyl

It 1s used 1n orthopaedic devices
5D T 08B HBETE SHERAFD.

It 1s known as PHBV

3080 PHBV moérish.
4, %



Question Number : 152 Question Id : 64041116632 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the essential amino acids from the following
Bob & o) wHEE S edpod HBoS0s. (only = Hm|gh)

Far

A) Leucine B) Tymsiue C) Cysteine D) Histidine

o i 0.6 E
¢ie n..E 6 oD rdeded oJ r._.(?ru

[#]

Options :
A & B only

1. %

~ B & C only
2. % &

B & D only
3. %

A & D only
4. &

Question Number : 153 Question Id : 64041116633 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following represents nucleoside of RNA ?
80d =&E° 26 RNA @ng) drgdGrpEd $mddod ?

Options :

HO o T

HO OH



HO

i L &
HO
HO
3. %
HO o U
HO OH
4. ¢

Question Number : 154 Question Id : 64041116634 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an antibiotic ?
808 78S D8 Sroda@rdE s ?
Options:
Chloramphenicol

§ e g
- S orenanE o

Oflaxacin

5 e &
':A_FD‘F'“E-F._‘-:DJM

Penicillin

e | o ME
PR S



Novestrol

o rienie
OO o h
od odjed "EE-

=

Question Number : 155 Question Id : 64041116635 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the major products X and Y respectively i the followimg set of reactions?

Bob St HaS° (et shmmen X ook Yen d6dmre o8 ? (dark = 288)

COOH
Bl"_:u
—-p. X
Fe(dark)
CH
3 Br,
2 .y
Fe(dark)
Options :
Q/COOH Q/ CHj;
Br Br
1. %
COOH CH;
Br Br
2. ®



CH

L V]

COOH

Br
Br

COOH
CH,

Br Br

Question Number : 156 Question Id : 64041116636 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following will undergo methylation with CH;C// anhy. A(C£3?
8oB B D9 CH%Cf / e Af{'f% & MHHTRS Dotheron ?

a) Aniline b) Chlorobenzene c¢)Benzoic acid  d) Anisole

S E bedbm -~ SE = 1o, = e R
DD SReNAle Bo&onk sxo VAN

Options :

a.d

Question Number : 157 Question Id : 64041116637 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What are X and Y respectively in the following set of reactions ?
Bod Sge BNSSE° X 086k Y en $5dmre 08 ?
(1) (CH3CO),0 n
Y - = p—Cresol —X
(i) H' p-&rS

CHj

Options :

<Q

1. %
CH, ro*ocm
| H;C
2. ¢
O/OH OOCOCH5
3. % |
i J@/OCD{'HE
O/ | HO
4. %

Question Number : 158 Question Id : 64041116638 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
1Bof se@D 228823550

List-I (Compound) List-1II (pK,)
rhz-1 (JE¥so) =0z-11 (pK)
A) p-Nitrophenol (p-3(&5*5a=¢) I) 15.9
B) Phenol (5a6) 71
C) Ethanol (s55°) I11) 10.0
D) p-Cresol (p-&ars) IV) 10.2

V) 8.3

The correct answer 1s
208 SErprEdo

Options :
o AILB-V,C-I, D-II

A-II. B-III. C-1. D-IV

2.9

A-V,. B-IV. C-II1. D-III
3. %

A-IV. B-III. C-1. D-V
4. %

Question Number : 159 Question Id : 64041116639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The structures of succinic acid (x) and malonic acid (v). respectively. are
%828 eio (x) HHBatn D&%E eFio () @BwE) AoEren DB

Options :

HOOGS 5, #C00H _~~__~ CooH

HOOC



HOOC

2. %

HOOC&foHﬂMMJXfCODH ; N

HOOC COOH
3. %
COOH
/\\/ .

HOOC Hooc’ffxx“COOH

4.

Question Number : 160 Question Id : 64041116640 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Benzyl amine can be prepared from which of the following reactions ?

Bob & S8 oxoe BoBS S écﬁﬁ{i}écﬁzﬁfﬁ}; ?

Options :
CH;NH,
CﬁHSCf _—
1. %
1 (1) AeCN
C.ﬁH;CHEC‘f — ——-
) (11) H, / N1
2. % x
NaOH / Br,
3. %
(1) LiAEH4
CGHECON-HE = -
(1) H,O

4.+





